
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

62% = ________ 13% = ________

14% = ________ 40% = ________

25% = ________ 90% = ________

32% = ________ 66% = ________

90% = ________ 100% = ________

83% = ________ 2% = ________

46% = ________ 68% = ________

22% = ________ 59% = ________

37% = ________ 84% = ________

18% = ________ 64% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

62% =
50
31

13% =
100
13

14% =
50
7

40% =
5
2

25% =
4
1

90% =
10
9

32% =
25
8

66% =
50
33

90% =
10
9

100% = 1

83% =
100
83

2% =
50
1

46% =
50
23

68% =
25
17

22% =
50
11

59% =
100
59

37% =
100
37

84% =
25
21

18% =
50
9

64% =
25
16
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